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1 Introduction

In the document R3-122096 consideration is given to an issue of TSN reset and MAC-is PDU which was originally proposed by Alcatel-Lucent for correction[2,3], but the CRs [4] were not agreed at RAN3#75, as the proposed scenario was stated to be a ‘corner case’ and to be solved by implementation. This view was recorded as agreed by Ericsson, Huawei and Nokia Siemens Networks in [1].

2 Discussion

In R3-122096 standardized solutions are proposed Rel-9 for this issue, which may conflict with any proprietary solution that companies may have implemented based on the decisions at RAN3#75 in [1]. So introducing this at Rel-9 may be considered too early and postponing it to Rel-10 would allow this adequate time for standardized solution implementation.
On the solutions proposed, solution 1 (Acquisition Indicator and E-DCH resource index) was proposed in [4] and would be supported by Alcatel-Lucent, however it is not clear from the discussion document whether this would be sent every E-DCH  data frame (our position) or only the first one after E-DCH acquisition.
For solution 2 we have these comments:

1. It creates unnecessary load on Iub by sending empty E-DCH data frames each time common E-DCH resource is released. Note in a smartphone traffic model, which is typical traffic model for Enhanced Cell-FACH, activity time is pretty low for each burst and thus, there will be quite frequent acquisitions and releases. 

2. As indicated in the discussion document there is a need to send this packet multiple times so as to avoid transient loss of packet over Iub, so this is not foolproof. This only reduces probability of loss but doesn’t solve the problem in totality. By including ‘Common E-DCH resource index + AI’ in every E-DCH data frames (Solution 1), this problem is solved in totality. Secondly, it will be difficult to time retransmissions. Too early will suffer from all transmissions getting lost, while too late will not serve the purpose since same or another UE may acquire the common E-DCH resource again and thus, RNC has obsolete information.

3. Lastly, we don’t think that solution 2 has fewer impacts on NB than solution 1. 

3 Conclusion
The solution proposed in [4] and solution 1 in R3-122096 should be adopted for Rel-10. Alcatel-Lucent would be pleased to prepare the CR(s) for this solution.
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